

Confidentiality Requested:

Yes No

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1238149

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15		
Name:			Spot Description:		
Address 1:			Sec	TwpS. R	East West
Address 2:			F6	eet from North /	South Line of Section
City:	State: Z	ip:+	Fe	eet from East /	West Line of Section
Contact Person:			Footages Calculated from I	Nearest Outside Section C	Corner:
Phone: ()			□ NE □ NW	V □SE □SW	
CONTRACTOR: License #			GPS Location: Lat:	, Long: _	
Name:				(e.g. xx.xxxxx)	(e.gxxx.xxxxx)
Wellsite Geologist:			Datum: NAD27	NAD83 WGS84	
Purchaser:			County:		
Designate Type of Completion:			Lease Name:	W	/ell #:
	e-Entry	Workover	Field Name:		
	_		Producing Formation:		
☐ Oil ☐ WSW ☐ D&A	☐ SWD	∐ SIOW □ SIGW	Elevation: Ground:	Kelly Bushing:	:
	GSW	Temp. Abd.	Total Vertical Depth:	Plug Back Total C	Depth:
CM (Coal Bed Methane)	dow	Temp. Abd.	Amount of Surface Pipe Se	et and Cemented at:	Feet
☐ Cathodic ☐ Other (Co	ore, Expl., etc.):		Multiple Stage Cementing	Collar Used? Yes	No
If Workover/Re-entry: Old Well I			If yes, show depth set:		Feet
Operator:			If Alternate II completion, c	cement circulated from:	
Well Name:			feet depth to:	w/	sx cmt.
Original Comp. Date:					
Deepening Re-perf	•	NHR Conv. to SWD	Drilling Fluid Managemer	nt Plan	
☐ Plug Back	Conv. to G		(Data must be collected from the		
Commingled	Pormit #:		Chloride content:	ppm Fluid volume	e: bbls
Dual Completion			Dewatering method used: _		
SWD			Location of fluid disposal if	hauled offsite	
☐ ENHR			1		
GSW	Permit #:		Operator Name:		
_ _			Lease Name:	License #:_	
Spud Date or Date R	eached TD	Completion Date or	Quarter Sec	TwpS. R	East _ West
Recompletion Date		Recompletion Date	County:	Permit #:	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II Approved by: Date:

Page Two



Operator Name:				Lease N	Name: _			Well #:		
Sec Twp	S. R	East	West	County	:					
INSTRUCTIONS: Shopen and closed, flow and flow rates if gas to	ring and shut-in pres o surface test, along	sures, whethe with final cha	er shut-in pre art(s). Attach	essure reac n extra shee	hed stati t if more	c level, hydrosta space is neede	itic pressures, bot d.	tom hole temp	erature, fluid re	ecovery,
Final Radioactivity Lo files must be submitte						ogs must be ema	ailed to kcc-well-lo	gs@kcc.ks.go	v. Digital electr	ronic log
Drill Stem Tests Taker (Attach Additional		Yes	☐ No				on (Top), Depth ar		Sampl	
Samples Sent to Geo	logical Survey	Yes	□No		Nam	е		Тор	Datum	1
Cores Taken Electric Log Run		☐ Yes ☐ Yes	☐ No ☐ No							
List All E. Logs Run:										
				RECORD	Ne					
	2	1				ermediate, product		T	I	
Purpose of String	Size Hole Drilled		Casing n O.D.)	Weig Lbs. /		Setting Depth	Type of Cement	# Sacks Used	Type and Pe Additive	
			ADDITIONAL	CEMENTIN	NG / SQL	JEEZE RECORD				
Purpose:	Depth Top Bottom	Type of	Cement	# Sacks	Used		Type and F	ercent Additives		
Perforate Protect Casing	100 20111111									
Plug Back TD Plug Off Zone										
1 lug 0 li 20 lio										
Did you perform a hydrau	ulic fracturing treatment	on this well?				Yes	No (If No, ski	ip questions 2 ar	nd 3)	
Does the volume of the t							= :	p question 3)		
Was the hydraulic fractur	ring treatment information	on submitted to	the chemical	disclosure re	gistry?	Yes	No (If No, fill	out Page Three	of the ACO-1)	
Shots Per Foot		ION RECORD Footage of Eac					cture, Shot, Cement			epth
	open,					,,				
TUBING RECORD:	Size:	Set At:		Packer A	t:	Liner Run:				
							Yes No			
Date of First, Resumed	Production, SWD or Ef	NHR. F	Producing Met	hod: Pumpin	a	Gas Lift 0	Other (Explain)			
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat			Gas-Oil Ratio	Gra	avity
	1									
	ON OF GAS:		en Hole	METHOD OF			mmingled	PRODUCTION	ON INTERVAL:	ļ
Vented Solo	I Used on Lease bmit ACO-18.)		en noie _	Perf.	(Submit		mmingled mit ACO-4)			



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Novy Oil & Gas, Inc. P.O. Box 559 Goddard, KS 67052 INVOICE

Invoice Number: 144209

Invoice Date: Jul 2, 2014

Page: 1

JUL 1 5 2014

Customer ID	Field Ticket#	Payment Terms			
Nove	63627	Net 30	Days		
Job Location	Camp Location	Service Date	Due Date		
KS1-01	Great Bend	Jul 2, 2014	8/1/14		

Quantity	Item	Description	Unit Price	Amount
	WELLNAME	Wethroder #1		
	CEMENT MATERIALS	Class A Common	17.90	2,864.00
300.00	CEMENT MATERIALS	Gel	1.05	315.00
451.00	CEMENT MATERIALS	Chloride	1.10	496.10
173.00	CEMENT SERVICE	Cubic Feet Charge	2.48	429.04
276.14	CEMENT SERVICE	Ton Mileage Charge	2.75	759.39
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
35.00	CEMENT SERVICE	Pump Truck Mileage	7.70	269.50
35.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	154.00
1.00	CEMENT SUPERVISOR	Johnny Cress		
1.00	EQUIPMENT OPERATOR	Kevin Eddy		
1.00	OPERATOR ASSISTANT	Brian Lang		
1.00	OPERATOR ASSISTANT	Kevin Weighous		
		0.14-4-1		6.7

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1,699.83

ONLY IF PAID ON OR BEFORE
Aug 1, 2014

Subtotal	6,799.28
Sales Tax	262.77
Total Invoice Amount	7,062.05
Payment/Credit Applied	
TOTAL	7,062.05

ALLIED OIL & GAS SERVICES, LLC 063627

Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

SERVICE POINT:	Bend, KS
	1

500 Hilliand, 1211 to 1001	The series to relief
DATE 7-2-14 SEC 15 TWB 5 RANGE W	CALLED OUT ON LOCATION JOB START JOB FINISH 2:30 2:00
	nd-5 on 281 to 70 kgr Rice KS
OLD OR NEW (Circle one) 18 East 5	
An and allertain laile	D Al C.
TYPE OF JOB Surface	- Constant
HOLE SIZE 12/4 T.D. 220	CEMENT
CASING SIZE \$ 5/8 DEPTH 220	AMOUNT ORDERED 160 3KS Class A + 390 CC + 290 GC
TUBING SIZE DEPTH	Class # 7 390 CC \$ 290 CC
DRILL PIPE DEPTH	!
TOOL DEPTH	COMMON_ 160 @ 17.90 2.864.04
PRES. MAX 150,061 MINIMUM O	POZMIY @
MEAS. LINE SHOE JOINT YU CEMENT LEFT IN CSG. 46	GEI 300 @ 1.05 315,00
PERFS.	CHLORIDE 451 @ 1.10. 496.15
DISPLACEMENT 11.45 Whis	ASC @
EQUIPMENT	Materials Totala 3.675.78
EQUITININI	Disc @ 25% 918. 78
PUMPTRUCK CEMENTER Sohowy Cres	
FUNT INOCK CENTER IN	
THE WORLD	
# DESCRIPTION DRIVER REULA Weightas	
BULK TRUCK	
# DRIVER	- HANDLING 173 @2.48 429.04
	MILEAGE 7.89 x 35 x 2-75 759. 41
REMARKS:	
REDIVIT RATARD.	
	_
	DEPTH OF JOB 220
	PUMP TRUCK CHARGE /512-25
	_ EXTRA FOOTAGE@
	MILEAGE HUM 35 @ 7.70 269.50
	- MANIFOLD@
	154.50 @ 4.40 154.50
CHARGE TO: NOVER Oil + Gas	@
CHARGE TO: Novey Oil + Gas	TOTAL 3.124-35
STREET	IVIAL -
	25% 781-92
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	4.5 \$
	_ N (A @
To: Allied Oil & Gas Services, LLC.	
You are hereby requested to rent cementing equipment	
and furnish cementer and helper(s) to assist owner or	
contractor to do work as is listed. The above work was	TOTAL
done to satisfaction and supervision of owner agent or	
contractor. I have read and understand the "GENERA"	
TERMS AND CONDITIONS" listed on the reverse sic	- 29 30
	TOTAL CHARGES (0. 1971)
PRINTED NAME I LA COMPANIE	DISCOUNT IF PAID IN 30 DAYS
The state of the s	= 00 Y7
11 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	
SIGNATURE AND COLL	0.011.



PAGE	CUST NO	YARD #	INVOICE DATE
1 of 1	1002956	1718	07/15/2014
			pred to social cometo a co

INVOICE NUMBER

91540917

Pratt

B NOVY OIL & GAS INC PO BOX 559

L GODDARD

KS US 67052 T 0 ATTN: W.L.

(620) 672-1201

LEASE NAME

Withroder

LOCATION В

COUNTY

Reno JUL 1 7 2014

S STATE KS

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	JOB # EQUIPMENT # PURCHASE O				TE	RMS	DUE DATE		
40743616	20920				Net -	30 days	08/14,	/2014	
			QTY	U of	UNIT	PRICE	INVOICE	AMOUNT	
For Service Dates	:: 07/10/2014 to 0	7/10/2014		14					
0040743616									
1710100000	. N W. II G (5)								
Cement 5 1/2" Long	ent-New Well Casing/Pi (gstring	07/10/2014			= :=				
		2014			-	2 2			
60/40 POZ			150.00	EA		9.24		1,385.93	
Celloflake			25.00	EA		2.85		71.22	
C-41P			22.00	EA		3.08		67.76	
Salt			805.00	EA		0.38		309.91	
Cement Friction Red	ucer		26.00	EA		4.62		120.11	
Mud Flush			500.00	EA		1.15		577.47	
Gilsonite			1,000.00	EA		0.52		515.87	
	& Baffle, 5 1/2"" (Blu		1.00	EA		307.98		307.9	
"Auto Fill Float Shoe			1.00	EA		277.19		277.1	
"Turbolizer, 5 1/2""			6.00	EA		84.70		508.1	
"5 1/2"" Basket (Blu			2.00	VNOSONAGE		223.29		446.5	
"Unit Mileage Chg (F			55.00	MI		3.27		179.9	
Heavy Equipment M			110.00	COLUMN TO		5.39		592.8	
"Proppant & Bulk De			355.00			1.69		601.3	
Depth Charge; 3001		27 35 11 SHC	1.00	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		1,663.11		1,663.1	
Blending & Mixing S			150.00	The state of the s		1.08		161.6	
Plug Container Util.			1.00	600000000000000000000000000000000000000		192.49		192.4	
"Service Supervisor,	first 8 hrs on loc.		1.00	EA		134.74		134.7	
PLEASE REMIT	TO: SE	ND OTHER CORRES	PONDENCE TO):					
BASTC PMPPCV					SUB TO	FAL	8	,114.4	
PO BOX 841903	80	SIC ENERGY SERVE 1 CHERRY ST, ST				TAX		233.1	
DALLAS, TX 752		RT WORTH, TX 763			DICE TO			,347.60	



JUL 1 7 2014

FIELD SERVICE TICKET 1718 10898 A

		Y SERVICES Pho MPING & WIRELINE	ne 620-672-1201			DATE	TICKET NO			
DATE OF JOB 07-	10-14	DISTRICT POUT	KS	NEW O	OLD U	PROD IN		CUSTOME ORDER NO	R	
CUSTOMER	10119	011-016		LEASE W	17/	0000	0 1	/		
ADDRESS		VIL JAS			2	1000		WELL	NO.	
				COUNTY	000	11.	STATE			
CITY	-	STATE		SERVICE CR	EW	111-0, 3	51-9, 7,	6501		
AUTHORIZED E		100		JOB TYPE:	NW	5121	15			
EQUIPMENT	T# HRS	EQUIPMENT#	HRS EQI	JIPMENT#	HRS	TRUCK CAL	LED 7-10-5	PM PM	TIN	1E
19910-711	210 45					ARRIVED A	T JOB	AM	4.1	5
37900						START OPE	RATION	AM PM	113	35
						FINISH OPE	RATION	AM	2.1	5
						RELEASED		AM PM	2:	45
						MILES FRO	M STATION TO W	ELL 55		
become a part of the	This contract without	Il of and only those terms and c ut the written consent of an offic	cer of Basic Energy Se	ervices LP.		IGNED:	ER, OPERATOR, CO			
REF. NO.	1 //	MATERIAL, EQUIPMENT A	AND SERVICES US	ED	UNIT	QUANTITY	UNIT PRICE	\$ AM	OUN.	Т
CF 103	60/40	Poz cont			SK	100		1,20	20	00
Cc 103	C600+n	40			SK	50		60	_	00
60105	C-41-F)			110	23		9	10	50
CC/11	SALT				12	Car		1/0	3	50
2112	C7.R.				16	26		15	6	00
10201	Filsoit-	e			16	1000		107	70	00
CF 607	LATCH	DOWN Pluja BA	1FF 51	72	54	/		40	0	au
CC 1/25/	HUto 4	1. Shoel			94	1		36	0	00
E 1901	RASI +	Zen			54	6		66	0	00
CC151	MUD TI	ech			MC	500		3	0	00
= 100	Ducky o	D.		/	mi	200		23	2	2-
= 101	HPMy 5	al			mi	110		7:	2()	00
1/3	Bulk Da	lung			m	355		78	0	45
E 104	Begth C	lidine			54	/			00	00
E GTO	New Ca	y MIX y	,		SK	150		21		00
Sport	Serun	Tan Kertal			94/				50	00
	Surper	Deft Run			51				25	00
CHE	EMICAL / ACID D	ATA:					SUB TOTA	CI III	1	111

SERVICE REPRESENTATIVE

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

MATERIALS

SERVICE & EQUIPMENT

FIELD SERVICE ORDER NO.

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

%TAX ON \$

%TAX ON \$

TOTAL



JUL 1 7 2014

FIELD SERVICE TICKET 1718 10898 A

- Manual Comment		SERVICES Phor	ne 620-672-12	01						
DATE OF				LNEW	01.0	DATE	TICKET NO.			
JOB	10-14 1	DISTRICT	K3	NEW WELL	WELL	PROD IN	J MDW		USTOMER RDER NO.:	
CUSTOMER	JULY C	216 128		LEASE (177/	16.6	9	1	WELL NO.	
ADDRESS				COUNTY)	STATE	A3		11111
CITY		STATE		SERVICE CI	REW	16 5	*	116	Carry and	
AUTHORIZED E	3Y			JOB TYPE:	24/1.	or hard	11		24.0	
EQUIPMENT	T# HRS	EQUIPMENT#	HRS E	EQUIPMENT#	HRS	TRUCK CAL	LED	DAT	E AM TIN	ME
370 V 24	112 45	V				ARRIVED AT	JOB	1	AM PM	
1 7/10 7/10	10/45					START OPE	Part of the second seco	1	AM //	The second
1406	1				-	FINISH OPE			AM	
						RELEASED	7		PM /	4
							A STATION TO	WELL	PM /	45
		TRACT CONDITIONS: (This co							and the same of th	
	o is authorized to e ipplies includes all	execute this contract as an age of and only those terms and co t the written consent of an office	ent of the custome	r. As such, the under	rsigned agreek of this do	ees and acknowl cument. No addit	and an an Albert Albert	terms	and/or condition	s shall
ITEM/PRICE REF. NO.	RICE EF. NO. MATERIAL, EQUIPMENT AND SERVICES USE			USED	UNIT	QUANTITY	UNIT PRIC	E	\$ AMOUN	IT
CP 107	Copy 2	19 607				100			1 200	63
CP 103	66/4				P				600	0.1
102	CLEHAR				115	25			92	50
815	C-41-P				160	22-	en de la seg		48	00
111	All 7			Campanity in the	a del mar	Control	4		402	20
7112	C 7,K				16	26			196	00
(20)	7 But				16	1000	And the state of t		670	00
CF-C7	LATICH L	Knin Plays Br	411 -	T Symmetry	Set	/			400	00
¥ 125 7	Mid I	1321			50	1			360	00
A STATE OF THE STA	1 3 1	y a version are a memory and a second con-	and the second of the con-		-74	francisco.		Secret a	660	UU
1101	5/5/2		THE STATE OF THE STATE OF		98	2			380	00
	Carried Son of Law	da			MC	500	and No.		190	10
E FEFF	Harley L				m				- 233	75
the parties of	11/1/				Artin.	1111			770	00
124	72 12 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			521从633 年末的。2015日6	"是我们是我们	14/45/5		1,000	780	45
200000	PARTY A TO SEE A				1575	Year and the second second		1	2 160	115000
from the first	f de la commence				54	t in the second		73.		3
L 270	the state				5A	150			210	00
L = 7 U L = 50 Y Se00 S	t Legal Legal Led Selegal	ed a Trips La Pieles			5A 5K. 5A.,	150				00
1 2 4 0 1 3 4 300 3	t de sele plan dels selestes	Andrew The State of S				150	SUB TO	TA:		00

SERVICE REPRESENTATIVE THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

MATERIALS

SERVICE & EQUIPMENT

FIELD SERVICE ORDER NO.

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

%TAX ON \$

%TAX ON \$

TOTAL



JUL 1 7 2014

TREATMENT REPORT

Customer NOVY OIL- MAS				Lease No.						Date			
Lease GU/-	Well #					07-10-14							
ield Order #	Station	PZA H	K			Casing		Depth 5	Cou	-	00		State
ype Job	W 5	1/2 %.	5				Form				Legal De	escription	10
PIPE	IG DATA	FLUID USED				TREATMENT RESUME							
sing Size	Tubing Size	Shots/F	t			Acid			RATE PF		S	ISIP	
pth 3858	Depth	From	То)	Pre Pad		1 3	Ma	Max			5 Min.	
lume /1/2	Volume	From	To)	Pad			Min	Min			10 Min.	
x Press	Max Press	From	To	То		Frac		Avg	Avg			15 Min.	
ell Connection	Annulus Vol	From	To)				НН	HHP Used			Annulus Pressure	
g Depth	Packer Dept	From	To			h		Gas Volume				Total Load	
stomer Repre	sentative			Station	Mana	ger OAU	AS- Se	ett	Tre	eater	beet	Lull	LOCU
rvice Units 3	7900 3	3708	20920) G,	6501)							
ver mes	MINADE	Eggine		1996	00	21010	3						
	Casing Pressure	/Tubing / Pressure	Bbls. Pi	umped	F	Rate				Service	e Log		
4:15					ON		ON	Loc.	loc.				
		a					0.	5511	z csg.				
0 2							Ru)	0~	c csg,				
	9 =	- 0	54	2									
155	-9						CAL.	h n) Ray	()			
0:00				1		Hook R. CIRC CSC							
1:35	3			5		4.5	St SAKOR						
/			17	12			It mun Flah						
			5			<	Space						
							nix	cont	100 %	160/4	1000	7	
	2			5 0			cont mix D Shot down wash Line Da						
							lelas	so PL					11/ 4/
-/			71			5.5	41	liss!	/		4		4
/	250						1.41	PS					
/	500					3	Bo	D.Z.					
2:15 1	,500	-	91	1/2		0	lus	low	2)				(r)
			-	7		1	1/11	1)	7/	isk			
		-				4	1	1	1				
									5.0 (5.40)	2			
												10	7
		11											
10244 N	NE Hiway	y 61 • P	O. Box	8613 •	Prat	tt, KS 67	124-8	8613 •	(620) 67	2-1201	• Fax	(620) 6	72-5383